








A certain number of persons sit in a row facing north direction. Eight persons sit 

between Y and U who sits immediate left of K. J sits 2nd to the left of U. One person 

sits between U and N. Number of persons sit between Y and S is thrice than the 

number of persons sit between J and N. L is the only neighbour of Y. Number of 

persons sit to the right of N is two less than the number of persons sit to the left of N. 

B sits third to the left of J. Y sits immediate right of L .

व्यक्तियों की एक क्तिक्तित संख्या एक पंक्ति में उत्तर क्तिशा की ओर उन्मखु होकर बैठती ह।ै Y और U के 

बीच आठ व्यक्ति बैठे हैं, जो K के ठीक बाएं बैठा ह।ै J, U के बाएं से िसूरे स्थाि पर बैठा ह।ै U और N के 

बीच एक व्यक्ति बैठा ह।ै Y और S के बीच बैठे व्यक्तियों की संख्या J और N के बीच बैठे व्यक्तियों की

संख्या से तीि गिुा ह।ै L, Y का इकलौता पडोसी ह।ै N के िायीं ओर बैठे व्यक्तियों की संख्या, N के बायीं 

ओर बैठे व्यक्तियों की संख्या से िो कम ह।ै B, J के बायें से तीसरे स्थाि पर बैठा ह।ै Y, L के ठीक िायें 

बैठा ह।ै



A certain number of persons sit in a row facing north direction. Eight persons sit 

between Y and U who sits immediate left of K. J sits 2nd to the left of U. One 

person sits between U and N. Number of persons sit between Y and S is thrice than 

the number of persons sit between J and N. L is the only neighbour of Y. Number 

of persons sit to the right of N is two less than the number of persons sit to the left 

of N. B sits third to the left of J. Y sits immediate right of L .



MINTS RAGSE CULTS NIGAS PEMTO

If the given words are arranged in the order as they appear in a dictionary from left to 

right, which of the following word will be the fifth from the left end?

यक्ति क्तिए गए शब्िों को शब्िकोष में बाएं से िाएं क्रम में व्यवक्तस्थत क्तकया जाता ह,ै तो क्तिम्ि में से कौि सा

शब्ि बाएं छोर से पांचवां होगा?

(a) MINTS

(b) RAGSE

(c) CULTS

(d) NIGAS

(e) PEMTO



MINTS RAGSE CULTS NIGAS PEMTO

If the letters of the given words are arranged in alphabetical order, then 

within the word how many meaningful words will be formed?

यक्ति क्तिए गए शब्िों के अक्षरों को वर्ाािकु्रम में व्यवक्तस्थत क्तकया जाए, तो शब्ि में क्तकतिे 

अथापरू्ा शब्ि बिेंगे?

(a) Four

(b) Three

(c) Two

(d) One

(e) None



MINTS RAGSE CULTS NIGAS PEMTO

How many letters are there between the first Letter of third word from left end and 

Last Letter of the second word from right end (According to the alphabetical 

order)?

बाएं छोर से तीसरे शब्ि के पहले अक्षर और िाएं छोर से िसूरे शब्ि के अंक्ततम अक्षर के बीच क्तकतिे 

अक्षर हैं (वर्ाािकु्रम के अिसुार)?

(a) Eight

(b) Nine

(c) Ten

(d) Fifteen

(e) Sixteen



MINTS RAGSE CULTS NIGAS PEMTO

How many vowels are there in between the first letter of first word from left and 

last letter of last word from right (According to the alphabetical order)?

बाएं से पहले शब्ि के पहले अक्षर और िाएं से अंक्ततम शब्ि के अंक्ततम अक्षर के बीच क्तकतिे स्वर हैं 

(वर्ाािकु्रम के अिसुार)?

(a) Two

(b) Three

(c) None

(d) Five

(e) None of these



MINTS RAGSE CULTS NIGAS PEMTO

How many letters are there between the first letter of last word from left and first 

letter of the second word from left (According to the alphabetical order)?

बाएं से अंक्ततम शब्ि के पहले अक्षर और बाएं से िसूरे शब्ि के पहले अक्षर के बीच क्तकतिे अक्षर हैं 

(वर्ाािकु्रम के अिसुार)?

(a) Four

(b) Fourteen

(c) Twenty

(d) Six

(e) One



In the given word ‘ALONGSIDE’ the consonants are written first and 

vowels are written second in alphabetical order then the vowels are 

changed to the next letter and the consonants are changed to the previous 

letters as per the alphabetical series, then which letter is fifth from the left 

end.

क्तिए गए शब्ि 'ALONGSIDE' में वर्ामाला के क्रम में पहले व्यंजि और िसूरे में स्वर 

क्तलखे जाते हैं क्तिर स्वरों को अगले वर्ा में बिल क्तिया जाता ह ैऔर व्यंजि को वर्ाािकु्रम में

क्तपछले अक्षरों में बिल क्तिया जाता ह,ै तो कौि सा अक्षर वर्ाािकु्रम से पााँचवााँ ह ैबायााँ छोर।

1. R 2. C 3. B 4. J 5. P



How many such pairs of digits are there in the number 

‘73951286’, each of which has as many digits between them in the 

number (both forward and backward direction) as they have 

between them in the Numeric Series? 

संख्या '73951286' में अकंों के ऐसे क्तकतिे जोडे हैं, क्तजिमें से प्रत्येक के बीच

संख्या में (आग ेऔर पीछे िोिों क्तिशाओ ंमें) उतिे ही अकं हैं क्तजतिे उिके बीच 

संख्यात्मक श्रंखला में हैं?

1. Two 2. Three 3. Four 4. More than Four 5. None



Statements: 

H < Y < U ≥ Q = N > R; S = T ≥ G = V > H 

Conclusions: 

I. U < R 

II. S ≥ U



Statements: 

T ≥M = K < B = G < P ≥ V > L; X > Z > T 

Conclusions 

I. X > P 

II. P ≥ T



Statements: 

P < Q ≥ G≥ I ≥ E; C ≤ P; C > U 

Conclusions: 

I. U > I 

II. P ≤ E



Statements: 

A>M>R=F≥Z<X<C ≥ B>N 

Conclusion: 

I: A≥Z

II: Z<V



Statements: 

Q≥W≥E≥R<T<Y≤U≤I  

Conclusion : 

I. Q≥T 

II.R≤I



In a Certain code NAME is written as 82610 ,than find the code for 

CAR ?

एक निनित कोड में NAME का कोड 82610 निखा गया है तो CAR का कोड क्या

होगा ?

(1) 6216

(2) 6218

(3) 12418

(4) 6412

(5) None of these



In a Certain code LAPTOP is written as 10 ,than find the code for 

MASTER ?

एक निनित कोड में LAPTOP का कोड 10 निखा गया है तो MASTER का कोड

क्या होगा ?

(1) 10

(2) 18

(3) 12

(4) 14

(5) None of these



‘value theme particle around’ is written as ‘tfk dm un ssd’ 

‘song new theme sing’ is written as ‘dj xy tfk src’ 

‘sing loud particle mix’ is written as ‘ssd bt src hnm’ 

‘around theme mix song’ is written as ‘xy un tfk bt’ 

What is the code of ‘around’? / 'Around' का कूट क्या ह?ै 

1. un 2. dm 3. dj 4. src 5. ssd



Statement: 

Some Scarfs are Handkerchiefs. 

Only a few Frocks are Scarfs. 

Conclusion: 

I. At least some Frocks are 

Handkerchiefs. 

II. All Frocks being 

Handkerchiefs is a possibility.

कथि: 

कुछ स्कािा  रूमाल हैं। 

केवल कुछ फ्रॉक स्कािा  हैं। 

क्तिष्कषा: 

कम से कम कुछ फ्रॉक रुमाल हैं। 

सभी फ्रॉक के रूमाल होिे की 

संभाविा ह।ै



Statement: 

Some Scarfs are Handkerchiefs. 

Only a few Frocks are Scarfs. 

Conclusion: 

I. At least some Frocks are 

Handkerchiefs. 

II. All Frocks being 

Handkerchiefs is a possibility.



Statement: 

Only a few Gold are Green. 

Some Gold are not Grey. 

Conclusion: 

I. All Gold being Grey is a 

possibility. 

II. At least some Grey are 

Green.

कथि: 

केवल कुछ गोल्ड ग्रीि हैं। 

कुछ गोल्ड ग्रे िहीं हैं। 

क्तिष्कषा: 

सभी गोल्ड के ग्र ेहोिे की सभंाविा ह।ै 

कम स ेकम कुछ ग्र ेग्रीि हैं।



Statement: 

Only a few Gold are Green. 

Some Gold are not Grey. 

Conclusion: 

I. All Gold being Grey is a 

possibility. 

II. At least some Grey are 

Green.



Statements: 

All grill are drill. 

Only few drill are mill. 

Conclusions: 

I. Some grill are mill. 

II. All mill are being drill 

is a possibility.

कथि: 

सभी क्तग्रल क्तिल हैं। 

केवल कुछ क्तिल क्तमल हैं। 

क्तिष्कषा: 

कुछ क्तग्रल क्तमल हैं। 

सभी क्तमल के क्तिल होिे की 

सभंाविा ह।ै



Statements: 

All grill are drill. 

Only few drill are mill. 

Conclusions: 

I. Some grill are mill. 

II. All mill are being drill 

is a possibility.



Garima walked 25 m towards south. Then she turned to her left and walked 20 

m. She then turned to her left and walked 25 m. She again turned to her right 

and walked 15 m. At what distance is she from the starting point and in which 

direction?

गरिमा दनिण की तिफ 25 मीटि गयी। नफि वह अपिे बाए ंओि मुड़ी औि 20 मीटि गयी । नफि 

वह अपिे बाए ंओि मुड़ी औि 25 मीटि गयी। वह नफि से अपिे दानहिे ओि मुड़ी औि 15 मीटि 

गयी। अब वह प्रािंनिक नबंदु से नकस नदशा में औि नकतिी दूिी पि है?

(1) 35 m East                                

(2) 35 m North

(3) 30 m West                              

(4) 45 m East

(5) None of these 



25m

20m

25m

15m



There is family of seven member having three generations. There are 

more than four females in the family. A is the father of B. L is married to 

the only son of G. L has an unmarried sibling K. B is the nephew of K. C 

is the child of A. G is the mother of A. H is the parent of L. How is K 

related to A?

तीि पीक्त़ियों वाले सात सिस्यों का पररवार ह।ै पररवार में चार से अक्त क मक्तहलाएं हैं। A, B

का क्तपता ह।ै L का क्तववाह G के इकलौते पतु्र से हुआ ह।ै L का एक अक्तववाक्तहत सहोिर K ह।ै 

B, K का भतीजा ह।ै C, A का बच्चा ह।ै G, A की मााँ ह।ै H, L का अक्तभभावक ह।ै

K, A से कैसे संबंक्त त ह?ै

1. Sister - in- law 2. Brother - in- law 3. Son 

4. Daughter 5. Cannot be determined



There is family of seven member having three generations. There are 

more than four females in the family. A is the father of B. L is married to 

the only son of G. L has an unmarried sibling K. B is the nephew of K. C 

is the child of A. G is the mother of A. H is the parent of L. How is K 

related to A?



Certain number of person are sitting in a row and all are facing north. The number 

of person are sit ahead of Z is in cube number but not more than 10 person. R sits 3 

rd to the right of Z. V sits adjacent to U and W. Y sits 3 rd to the right of X, who 

sits 5 th to the right of T. Y sits an end. Only 6 person sits between R and T, who 

sits 2 nd to the left of U. Not less than 21 people are sit in this row.

कुछ व्यक्ति एक पंक्ति में बैठे हैं और सभी उत्तर की ओर उन्मखु हैं। Z के आगे बैठिे वालों की संख्या घि 

संख्या में ह ैलेक्तकि 10 व्यक्तियों से अक्त क िहीं ह।ै R, Z के िायें से तीसरे स्थाि पर बैठा ह।ै V, U और

W के सक्तन्िकट बैठा ह।ै Y, X के िायें से तीसरे स्थाि पर बैठा है, जो T के िायें से पांचवें स्थाि पर बैठा 

ह।ै Y अंक्ततम छोर पर बैठा ह।ै R और T के मध्य केवल 6 व्यक्ति बैठे हैं, जो U के बायें से िसूरे स्थाि पर

बैठा ह।ै इस पंक्ति में कम से कम 21 व्यक्ति बैठे हैं।



Certain number of person are sitting in a row and all are facing north. The number 

of person are sit ahead of Z is in cube number but not more than 10 person. R sits 3 

rd to the right of Z. V sits adjacent to U and W. Y sits 3 rd to the right of X, who 

sits 5 th to the right of T. Y sits an end. Only 6 person sits between R and T, who 

sits 2 nd to the left of U. Not less than 21 people are sit in this row.



Six persons P, Q, R, S, T and U sit around a triangular table. Three persons sit at each corner of 

table and rest sit at middle of each side of table. All of them face inside and like different colors 

– Blue, Black, White, Violet, Red and Green. All the information is not necessarily in the same 

order. T sits 2nd to the left of the one who likes White, who sits opposite to U. R likes red. R is 

not an immediate neighbor of T and the one who likes white. Q sits 2nd to the left of P, who sits 

at one of the corners of the table. The one who likes Violet sits immediate left of the one who 

likes Black but not sit opposite to P. Q does not like Blue

छह व्यक्ति P, Q, R, S, T और U एक क्तत्रभजुाकार मेज के चारो ओर बैठे हैं। तीि व्यक्ति मेज के प्रत्येक कोिे पर बैठते हैं

और शेष मेज की प्रत्येक भजुा के मध्य में बैठते हैं। वे सभी अंिर की ओर उन्मखु हैं और उन्हें अलग-अलग रंग पसंि हैं -

िीला, काला, सिेि, बैंगिी, लाल और हरा। जरूरी िहीं क्तक सभी जािकारी इसी क्रम में हो। T, सफेि रंग पसंि करिे वाले 

व्यक्ति के बायें से िसूरे स्थाि पर बैठा ह,ै जो U के क्तवपरीत बैठा ह।ै R को लाल रंग पसंि ह।ै R, T और सिेि रंग पसंि 

करिे वाले व्यक्ति का क्तिकटतम पडोसी िहीं ह।ै Q, P के बाएं से िसूरे स्थाि पर बैठा ह,ै जो मेज के क्तकसी एक कोिे पर 

बैठा ह।ै बैंगिी रंग पसंि करिे वाला व्यक्ति काला रंग पसंि करिे वाले व्यक्ति के ठीक बाएं बैठा ह ैलेक्तकि P के क्तवपरीत 

िहीं बैठा ह।ै Q को िीला रंग पसंि िहीं है



Six persons P, Q, R, S, T and U sit around a triangular table. Three persons sit at each corner of 

table and rest sit at middle of each side of table. All of them face inside and like different colors 

– Blue, Black, White, Violet, Red and Green. All the information is not necessarily in the same 

order. T sits 2nd to the left of the one who likes White, who sits opposite to U. R likes red. R is 

not an immediate neighbor of T and the one who likes white. Q sits 2nd to the left of P, who sits 

at one of the corners of the table. The one who likes Violet sits immediate left of the one who 

likes Black but not sit opposite to P. Q does not like Blue



Six persons (C, D, E, F, J, K) were born on two different dates 5, 12 of three different 

months viz. March, May and September. Only one person was born on one date of a 

month. J was born on the 5th of a month having 30 days. Not more than two persons 

were born between F and E. C was born on an even-numbered date but immediately 

after K. Only two persons were born between J and C. D was born on one of the 

months before E. K was born before F but not after D. At least two people were born 

after F.

छह व्यक्तियों (C, D, E, F, J, K) का जन्म तीि अलग-अलग महीिों की िो अलग-अलग तारीखों 5, 12 

को हुआ था। माचा, मई और क्तसतंबर। केवल एक व्यक्ति का जन्म एक महीिे की एक तारीख को हुआ था। J 

का जन्म 30 क्तििों वाले महीिे की 5 तारीख को हुआ था। F और E के बीच िो से अक्त क व्यक्तियों का 

जन्म िहीं हुआ था। C का जन्म एक सम संख्या वाली तारीख पर लेक्तकि K के ठीक बाि हुआ था। J और 

C के बीच केवल िो व्यक्तियों का जन्म हुआ था। D का जन्म E से पहले क्तकसी एक महीिे में हुआ था। K 

का जन्म हुआ था F से पहले लेक्तकि D के बाि िहीं। F के बाि कम से कम िो लोगों का जन्म हुआ।



Six persons (C, D, E, F, J, K) were born on two different dates 5, 12 of three different 

months viz. March, May and September. Only one person was born on one date of a 

month. J was born on the 5th of a month having 30 days. Not more than two persons 

were born between F and E. C was born on an even-numbered date but immediately 

after K. Only two persons were born between J and C. D was born on one of the 

months before E. K was born before F but not after D. At least two people were born 

after F.



There are six persons namely A, B, C, D, E and F. They are arranged in descending 

order of their age from left to right. No two persons have the same age. E is 

younger than A but elder to B. B is not the youngest. E is 25 years old. The 

difference of ages of D and E is 20 years. C is the second youngest person. 

If the sum of ages of A and E is 70 and the sum of ages of F and D is 89 years then 

what is the age of D? 

छह व्यक्ति अथाात ्A, B, C, D, E और F हैं। उन्हें उिकी उम्र के अिसुार बाएं से िाएं अवरोही क्रम में 

व्यवक्तस्थत क्तकया गया ह।ै क्तकसी भी िो व्यक्तियों की आय ुसमाि िहीं होती ह।ै E, A से छोटा ह ैलेक्तकि B 

से बडा ह।ै B सबसे छोटा िहीं ह।ै E की उम्र 25 वषा ह।ै D और E की आय ुका अंतर 20 वषा ह।ै C 

िसूरा सबसे छोटा व्यक्ति ह।ै यक्ति A और E की आय ुका योग 70 ह ैऔर F और D की आय ुका योग 

89 वषा ह,ै तो D की आय ुक्तकतिी ह?ै

1. 55 years 2. 20 years 3. 15 years 4. 5 years 5. 10 years



There are six persons namely A, B, C, D, E and F. They are arranged in descending 

order of their age from left to right. No two persons have the same age. E is 

younger than A but elder to B. B is not the youngest. E is 25 years old. The 

difference of ages of D and E is 20 years. C is the second youngest person. 

If the sum of ages of A and E is 70 and the sum of ages of F and D is 89 years then 

what is the age of D? 



There are 6 persons namely A, B, C, D, E and F. They all are sitting around a circular 

table facing the centre. Each one of them likes a fruit namely, Apple, Banana, Guava, 

Mango, Papaya and Orange but not necessarily in the same order. A likes apples and is 

sitting second to the left of B. The one who likes mango sits between the one who likes 

apple and B. C who likes papaya sits opposite to E. Two persons are sitting between B 

and F. The one who likes guava sits immediately to the left of the one who likes apples. D 

and B do not like mango. D sits second to the right of E and likes orange.

यहााँ 6 व्यक्ति अथाात ्A, B, C, D, E और F हैं। वे सभी कें द्र की ओर मखु करके एक वरत्ताकार मेज के चारों 

ओर बैठे हैं। उिमें से प्रत्येक को एक िल अथाात ्सेब, केला, अमरूि, आम, पपीता और संतरा पसंि ह ैलेक्तकि 

आवश्यक िहीं क्तक इसी क्रम में हो। A को सेब पसंि ह ैऔर वह B के बायें से िसूरे स्थाि पर बैठा ह।ै वह व्यक्ति 

क्तजसे आम पसंि ह ैवह सेब पसंि करिे वाले और B के बीच बैठा ह।ै C क्तजसे पपीता पसंि ह ैवह E के क्तवपरीत 

बैठा ह।ै B और F के बीच िो व्यक्ति बैठे हैं। क्तजसे पसंि ह ैवह अमरूि सेब पसंि करिे वाले व्यक्ति के ठीक बाई ं

ओर बैठा ह।ै D और B को आम पसंि िहीं ह।ै D, E के िायें से िसूरे स्थाि पर बैठा ह ैऔर िारंगी रंग पसंि 

करता ह ै



There are 6 persons namely A, B, C, D, E and F. They all are sitting around a circular 

table facing the centre. Each one of them likes a fruit namely, Apple, Banana, Guava, 

Mango, Papaya and Orange but not necessarily in the same order. A likes apples and is 

sitting second to the left of B. The one who likes mango sits between the one who likes 

apple and B. C who likes papaya sits opposite to E. Two persons are sitting between B 

and F. The one who likes guava sits immediately to the left of the one who likes apples. D 

and B do not like mango. D sits second to the right of E and likes orange.



Ten Persons L, M, N, O, P, Q, R, S, T and U 

were born (but not necessarily in the same 

order) on either 9th or 30th of five different 

months- January, May, August, October and 

December. Three persons were born between 

M and Q and they born on same date. Two 

persons were born between M and R, who was 

born in either May or December. The number 

of persons were born between R and Q is 

same as the number of persons were born 

between N and T. T was born in October. S 

was born just after L, who was born after R. P 

was born just before the given month when O 

was born. U was born before T. M was born 

after R. L and S were not born in the same 

month. U is not the eldest person.

िस व्यक्तियों L, M, N, O, P, Q, R, S, T और U का

जन्म पांच अलग-अलग महीिों- जिवरी, मई, अगस्त, 

अक्टूबर और 9 या 30 तारीख को हुआ था (लेक्तकि जरूरी 

िहीं क्तक इसी क्रम में हो)। क्तिसंबर। M और Q के बीच तीि 

व्यक्तियों का जन्म हुआ था और उिका जन्म एक ही तारीख 

को हुआ था। M और R के बीच िो व्यक्तियों का जन्म हुआ 

था, क्तजसका जन्म या तो मई या क्तिसंबर में हुआ था। R और 

Q के बीच पैिा हुए व्यक्तियों की संख्या N और T के बीच 

पैिा हुए व्यक्तियों की संख्या के समाि ह।ै T का जन्म 

अक्टूबर में हुआ था। S का जन्म L के ठीक बाि हुआ था, 

क्तजसका जन्म R के बाि हुआ था। P का जन्म क्तिए गए महीिे 

से ठीक पहले हुआ था जब O का जन्म हुआ था। U का 

जन्म T से पहले हुआ था। M का जन्म R के बाि हुआ था। 

L और S का जन्म एक ही महीिे में िहीं हुआ था। U सबसे 

बडा व्यक्ति िहीं ह।ै



Ten Persons L, M, N, O, P, Q, R, S, T and U 

were born (but not necessarily in the same 

order) on either 9th or 30th of five different 

months- January, May, August, October and 

December. Three persons were born between 

M and Q and they born on same date. Two 

persons were born between M and R, who was 

born in either May or December. The number 

of persons were born between R and Q is 

same as the number of persons were born 

between N and T. T was born in October. S 

was born just after L, who was born after R. P 

was born just before the given month when O 

was born. U was born before T. M was born 

after R. L and S were not born in the same 

month. U is not the eldest person.



In a bank meeting, the eight bank employees Q, R, U, P, D, H, L, and C hold different positions 

- Managing Director (MD), Executive Director (ED), Chief General Manager (CGM), General 

Manager (GM), Assistant General Manager (AGM), Divisional Manager (DM), Marketing 

Officer (MO) and Clerk but not necessarily in the same order. All the positions are in increasing 

order where Clerk is junior to all and MD is senior to all. U is just one position senior to R. D is 

junior to Q. Q is senior to only three persons. L is neither Chief General Manager nor Managing 

Director. P is senior to Divisional Manager but junior to Managing Director. H is not junior to P. 

D is not the most junior. C is an Executive Director.

एक बैंक बैठक में, आठ बैंक कमाचारी Q, R, U, P, D, H, L, और C क्तवक्तभन्ि पिों पर हैं - प्रबं  क्तििशेक (MD), 

कायाकारी क्तििशेक (ED), मखु्य महाप्रबं क (CGM), महाप्रबं क (जीएम), सहायक महाप्रबं क (एजीएम), मडंल 

प्रबं क (डीएम), क्तवपर्ि अक्त कारी (एमओ) और क्लका  लेक्तकि आवश्यक िहीं इसी क्रम में हो। सभी पि ब़िते क्रम में हैं

जहां क्लका  सभी से कक्तिष्ठ ह ैऔर एमडी सभी से वररष्ठ ह।ै U, R से केवल एक स्थाि वररष्ठ ह।ै D, Q से कक्तिष्ठ ह।ै Q 

केवल तीि व्यक्तियों से वररष्ठ ह।ै L ि तो मखु्य महाप्रबं क ह ैऔर ि ही प्रबं  क्तििशेक। P, मडंल प्रबं क से वररष्ठ ह ै

लेक्तकि प्रबं  क्तििशेक से कक्तिष्ठ ह।ै H, P से कक्तिष्ठ िहीं ह।ै D सबसे कक्तिष्ठ िहीं ह।ै C एक कायाकारी क्तििशेक ह।ै 



In a bank meeting, the eight bank employees Q, R, 

U, P, D, H, L, and C hold different positions -

Managing Director (MD), Executive Director (ED), 

Chief General Manager (CGM), General Manager 

(GM), Assistant General Manager (AGM), 

Divisional Manager (DM), Marketing Officer (MO) 

and Clerk but not necessarily in the same order. All 

the positions are in increasing order where Clerk is 

junior to all and MD is senior to all. U is just one 

position senior to R. D is junior to Q. Q is senior to 

only three persons. L is neither Chief General 

Manager nor Managing Director. P is senior to 

Divisional Manager but junior to Managing 

Director. H is not junior to P. D is not the most 

junior. C is an Executive Director.



Eight persons A, B, C, D, E, F, G and H are sitting in a horizontal row. Four of them 

are facing north while the rest are facing south. G is the third person from one of the 

extreme ends. Two people sitting at extreme ends face in the same direction. Three 

people sit between B and C. Neighbours of D face in the same direction but opposite 

to D. Neither C nor D sit at the extreme end. E sits to the left of H, who sits adjacent 

to neither A nor F. B sits adjacent to G and faces south. E does not sit adjacent to F. A 

and F are second to the left of each other.

आठ व्यक्ति A, B, C, D, E, F, G और H एक कै्षक्ततज पंक्ति में बैठे हैं। उिमें से चार का मखु उत्तर की 

ओर ह ैजबक्तक शेष का मखु िक्तक्षर् की ओर ह।ै G क्तकसी एक अंक्ततम छोर से तीसरा व्यक्ति ह।ै अंक्ततम छोर 

पर बैठे िो व्यक्तियों का मखु समाि क्तिशा की ओर ह।ै B और C के मध्य तीि व्यक्ति बैठे हैं। D के पडोक्तसयों 

का मखु समाि क्तिशा में ह ैलेक्तकि D के क्तवपरीत ह।ै ि तो C ि ही D अंक्ततम छोर पर बैठे हैं। E, H के बायें 

बैठा ह,ै जो ि तो A और ि ही F के आसन्ि बैठा ह।ै B, G के क्तिकट बैठा ह ैऔर उसका मखु िक्तक्षर् की 

ओर ह।ै E, F के आस-पास िहीं बैठा ह।ै A और F एक िसूरे के बायें से िसूरे स्थाि पर हैं



Eight persons A, B, C, D, E, F, G and H are sitting in a horizontal row. Four of them 

are facing north while the rest are facing south. G is the third person from one of the 

extreme ends. Two people sitting at extreme ends face in the same direction. Three 

people sit between B and C. Neighbours of D face in the same direction but opposite 

to D. Neither C nor D sit at the extreme end. E sits to the left of H, who sits adjacent 

to neither A nor F. B sits adjacent to G and faces south. E does not sit adjacent to F. A 

and F are second to the left of each other.


